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�ϑϑϘΧРͮΓ˺ϫͮΧΗ �Ή͞ΧϘͮϫͩΓϡ

ࡦ ´ɠʉǩȝŒȋ ƟˇŒƁʉ ɻȴȋʞʉǩȴȣ OPT ࡩˇƟࢍ ɻǞȴɫʉƟɻʉ üðß
ƁˈƁȋƟࢎ

ࡦ OPT ǩɻ ʉȴȴ ǞŒɫƌ ʉȴ ˨ȣƌ ࡩˇƟࢍ £ß࢙ǞŒɫƌࢎ

ࡦ � Ȃ࢙ŒɠɠɫȴˇǩȝŒʉǩȴȣ ŒȋǊȴɫǩʉǞȝ ˨ȣƌɻ Œ ɻȴȋʞʉǩȴȣ
≤ Ȃ× OPT

ࡦ ßȴɻɻǩŷȋˈ ƟǇ˨ƁǩƟȣʉȋˈ࡭ ࡩˇƟࢍ ɠȴȋˈ ʉǩȝƟࢎ

ࡦ īǞƟȣ ƌȴ ʿƟ ʞɻƟ ŒɠɠɫȴˇǩȝŒʉǩȴȣ ŒȋǊȴɫǩʉǞȝɻࡲ



�ϑϑϘΧРͮΓ˺ϫͮΧΗ �Ή͞ΧϘͮϫͩΓϡ

ࡦ ´ɠʉǩȝŒȋ ƟˇŒƁʉ ɻȴȋʞʉǩȴȣ OPT ࡩˇƟࢍ ɻǞȴɫʉƟɻʉ üðß
ƁˈƁȋƟࢎ

ࡦ OPT ǩɻ ʉȴȴ ǞŒɫƌ ʉȴ ˨ȣƌ ࡩˇƟࢍ £ß࢙ǞŒɫƌࢎ

ࡦ � Ȃ࢙ŒɠɠɫȴˇǩȝŒʉǩȴȣ ŒȋǊȴɫǩʉǞȝ ˨ȣƌɻ Œ ɻȴȋʞʉǩȴȣ
≤ Ȃ× OPT

ࡦ ßȴɻɻǩŷȋˈ ƟǇ˨ƁǩƟȣʉȋˈ࡭ ࡩˇƟࢍ ɠȴȋˈ ʉǩȝƟࢎ

ࡦ īǞƟȣ ƌȴ ʿƟ ʞɻƟ ŒɠɠɫȴˇǩȝŒʉǩȴȣ ŒȋǊȴɫǩʉǞȝɻࡲ



�ϑϑϘΧРͮΓ˺ϫͮΧΗ �Ή͞ΧϘͮϫͩΓϡ

ࡦ ´ɠʉǩȝŒȋ ƟˇŒƁʉ ɻȴȋʞʉǩȴȣ OPT ࡩˇƟࢍ ɻǞȴɫʉƟɻʉ üðß
ƁˈƁȋƟࢎ

ࡦ OPT ǩɻ ʉȴȴ ǞŒɫƌ ʉȴ ˨ȣƌ ࡩˇƟࢍ £ß࢙ǞŒɫƌࢎ

ࡦ � Ȃ࢙ŒɠɠɫȴˇǩȝŒʉǩȴȣ ŒȋǊȴɫǩʉǞȝ ˨ȣƌɻ Œ ɻȴȋʞʉǩȴȣ
≤ Ȃ× OPT

ࡦ ßȴɻɻǩŷȋˈ ƟǇ˨ƁǩƟȣʉȋˈ࡭ ࡩˇƟࢍ ɠȴȋˈ ʉǩȝƟࢎ

ࡦ īǞƟȣ ƌȴ ʿƟ ʞɻƟ ŒɠɠɫȴˇǩȝŒʉǩȴȣ ŒȋǊȴɫǩʉǞȝɻࡲ



�ϑϑϘΧРͮΓ˺ϫͮΧΗ �Ή͞ΧϘͮϫͩΓϡ

ࡦ ´ɠʉǩȝŒȋ ƟˇŒƁʉ ɻȴȋʞʉǩȴȣ OPT ࡩˇƟࢍ ɻǞȴɫʉƟɻʉ üðß
ƁˈƁȋƟࢎ

ࡦ OPT ǩɻ ʉȴȴ ǞŒɫƌ ʉȴ ˨ȣƌ ࡩˇƟࢍ £ß࢙ǞŒɫƌࢎ

ࡦ � Ȃ࢙ŒɠɠɫȴˇǩȝŒʉǩȴȣ ŒȋǊȴɫǩʉǞȝ ˨ȣƌɻ Œ ɻȴȋʞʉǩȴȣ
≤ Ȃ× OPT

ࡦ ßȴɻɻǩŷȋˈ ƟǇ˨ƁǩƟȣʉȋˈ࡭ ࡩˇƟࢍ ɠȴȋˈ ʉǩȝƟࢎ

ࡦ īǞƟȣ ƌȴ ʿƟ ʞɻƟ ŒɠɠɫȴˇǩȝŒʉǩȴȣ ŒȋǊȴɫǩʉǞȝɻࡲ

2 apx will always
solution E 2 OPT



�ϑϑϘΧРͮΓ˺ϫͮΧΗ �Ή͞ΧϘͮϫͩΓϡ

ࡦ ´ɠʉǩȝŒȋ ƟˇŒƁʉ ɻȴȋʞʉǩȴȣ OPT ࡩˇƟࢍ ɻǞȴɫʉƟɻʉ üðß
ƁˈƁȋƟࢎ

ࡦ OPT ǩɻ ʉȴȴ ǞŒɫƌ ʉȴ ˨ȣƌ ࡩˇƟࢍ £ß࢙ǞŒɫƌࢎ

ࡦ � Ȃ࢙ŒɠɠɫȴˇǩȝŒʉǩȴȣ ŒȋǊȴɫǩʉǞȝ ˨ȣƌɻ Œ ɻȴȋʞʉǩȴȣ
≤ Ȃ× OPT

ࡦ ßȴɻɻǩŷȋˈ ƟǇ˨ƁǩƟȣʉȋˈ࡭ ࡩˇƟࢍ ɠȴȋˈ ʉǩȝƟࢎ

ࡦ īǞƟȣ ƌȴ ʿƟ ʞɻƟ ŒɠɠɫȴˇǩȝŒʉǩȴȣ ŒȋǊȴɫǩʉǞȝɻࡲ



�˺ϫ̤ͩͮΗ͞ϡ

ࡦ � �ŒʉƁǞǩȣǊ ǩȣ Œ ǊɫŒɠǞ ǩɻ Œ ɻƟʉ ȴǇ ƟƌǊƟɻ ʿǩʉǞȴʞʉ
Ɓȴȝȝȴȣ ʻƟɫʉǩƁƟɻ

ࡦ � �ŒˇǩȝŒȋ �ŒʉƁǞǩȣǊ ǩɻ Œ ȝŒʉƁǞǩȣǊ ʿǞǩƁǞ
ƁŒȣȣȴʉ ŷƟ ƟˇʉƟȣƌƟƌ ʉȴ Œ ȋŒɫǊƟɫ ȝŒʉƁǞǩȣǊ

ࡦ � �Œˇǩȝʞȝ �ŒʉƁǞǩȣǊ ǩɻ Œ ȝŒʉƁǞǩȣǊ ȴǇ ʉǞƟ
ȋŒɫǊƟɻʉ ɻǩ˔Ɵ

E



�˺ϫ̤ͩͮΗ͞ϡ

ࡦ � �ŒʉƁǞǩȣǊ ǩȣ Œ ǊɫŒɠǞ ǩɻ Œ ɻƟʉ ȴǇ ƟƌǊƟɻ ʿǩʉǞȴʞʉ
Ɓȴȝȝȴȣ ʻƟɫʉǩƁƟɻ

ࡦ � �ŒˇǩȝŒȋ �ŒʉƁǞǩȣǊ ǩɻ Œ ȝŒʉƁǞǩȣǊ ʿǞǩƁǞ
ƁŒȣȣȴʉ ŷƟ ƟˇʉƟȣƌƟƌ ʉȴ Œ ȋŒɫǊƟɫ ȝŒʉƁǞǩȣǊ

ࡦ � �Œˇǩȝʞȝ �ŒʉƁǞǩȣǊ ǩɻ Œ ȝŒʉƁǞǩȣǊ ȴǇ ʉǞƟ
ȋŒɫǊƟɻʉ ɻǩ˔Ɵ



�˺ϫ̤ͩͮΗ͞ϡ

ࡦ � �ŒʉƁǞǩȣǊ ǩȣ Œ ǊɫŒɠǞ ǩɻ Œ ɻƟʉ ȴǇ ƟƌǊƟɻ ʿǩʉǞȴʞʉ
Ɓȴȝȝȴȣ ʻƟɫʉǩƁƟɻ

ࡦ � �ŒˇǩȝŒȋ �ŒʉƁǞǩȣǊ ǩɻ Œ ȝŒʉƁǞǩȣǊ ʿǞǩƁǞ
ƁŒȣȣȴʉ ŷƟ ƟˇʉƟȣƌƟƌ ʉȴ Œ ȋŒɫǊƟɫ ȝŒʉƁǞǩȣǊ

ࡦ � �Œˇǩȝʞȝ �ŒʉƁǞǩȣǊ ǩɻ Œ ȝŒʉƁǞǩȣǊ ȴǇ ʉǞƟ
ȋŒɫǊƟɻʉ ɻǩ˔Ɵ is a Maximal matching too



�˺ϫ̤ͩͮΗ͞ϡࡱ DР˺ΓϑΉ̺ϡ
Maximal matching not Maximum matching
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�˺ϫ̤ͩͮΗ͞ϡࡱ DР˺ΓϑΉ̺ϡ
Maximum

match

r r



�Χ̜ �ϡϡͮ͞ΗΓ̺Ηϫ

�ȋǩƁƟ #Ɵȣ +Ǟɫǩɻ 5ǩŒȣŒ
�ƌȝǩȣǩɻʉɫŒʉȴɫ ि ि
ßɫȴǊɫŒȝȝƟɫ ि ि
�ǩŷɫŒɫǩŒȣ ि ि
ßɫȴǇƟɻɻȴɫ ि
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Œƌȝ

ɠɫȴǊ
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jobs people
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æΧΧΓ �ϡϡͮ͞ΗΓ̺Ηϫ

æࡸ ࠒ æࡸ ࠓ æࡸ ࠔ æࡸ ࠕ æࡸ ࠖ æࡸ ࠗ
�Œɫȴȣ ि ि
#ǩŒȣƁŒ ि ि ि
+Œɫȴȋ ि ि
5ŒȣŒ ि ि ि ि
DȝȝŒ ि ि
`ɫŒȣƁǩɻ ि ि
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�Ή͞ΧϘͮϫͩΓϡ
�ŒˇǩȝŒȋ �ŒʉƁǞǩȣǊ
+Œȣ ŷƟ Ǉȴʞȣƌ ǩȣ ɠȴȋˈȣȴȝǩŒȋ ʉǩȝƟ ŷˈ Œ ǊɫƟƟƌˈ
ŒȋǊȴɫǩʉǞȝ

�Œˇǩȝʞȝ �ŒʉƁǞǩȣǊ
+Œȣ ŷƟ Ǉȴʞȣƌ ǩȣ ɠȴȋˈȣȴȝǩŒȋ ʉǩȝƟ ŷˈ ʉǞƟ
ŷȋȴɻɻȴȝ ŒȋǊȴɫǩʉǞȝ

�ǩȣǩȝʞȝ īƟǩǊǞʉ ßƟɫǇƟƁʉ �ŒʉƁǞǩȣǊ
+Œȣ ŷƟ Ǉȴʞȣƌ ǩȣ ɠȴȋˈȣȴȝǩŒȋ ʉǩȝƟ ŷˈ Dƌȝȴȣƌɻࢪ
ŒȋǊȴɫǩʉǞȝ



�Ή͞ΧϘͮϫͩΓϡ
�ŒˇǩȝŒȋ �ŒʉƁǞǩȣǊ
+Œȣ ŷƟ Ǉȴʞȣƌ ǩȣ ɠȴȋˈȣȴȝǩŒȋ ʉǩȝƟ ŷˈ Œ ǊɫƟƟƌˈ
ŒȋǊȴɫǩʉǞȝ

�Œˇǩȝʞȝ �ŒʉƁǞǩȣǊ
+Œȣ ŷƟ Ǉȴʞȣƌ ǩȣ ɠȴȋˈȣȴȝǩŒȋ ʉǩȝƟ ŷˈ ʉǞƟ
ŷȋȴɻɻȴȝ ŒȋǊȴɫǩʉǞȝ

�ǩȣǩȝʞȝ īƟǩǊǞʉ ßƟɫǇƟƁʉ �ŒʉƁǞǩȣǊ
+Œȣ ŷƟ Ǉȴʞȣƌ ǩȣ ɠȴȋˈȣȴȝǩŒȋ ʉǩȝƟ ŷˈ Dƌȝȴȣƌɻࢪ
ŒȋǊȴɫǩʉǞȝ



�Ή͞ΧϘͮϫͩΓϡ
�ŒˇǩȝŒȋ �ŒʉƁǞǩȣǊ
+Œȣ ŷƟ Ǉȴʞȣƌ ǩȣ ɠȴȋˈȣȴȝǩŒȋ ʉǩȝƟ ŷˈ Œ ǊɫƟƟƌˈ
ŒȋǊȴɫǩʉǞȝ

�Œˇǩȝʞȝ �ŒʉƁǞǩȣǊ
+Œȣ ŷƟ Ǉȴʞȣƌ ǩȣ ɠȴȋˈȣȴȝǩŒȋ ʉǩȝƟ ŷˈ ʉǞƟ
ŷȋȴɻɻȴȝ ŒȋǊȴɫǩʉǞȝ

�ǩȣǩȝʞȝ īƟǩǊǞʉ ßƟɫǇƟƁʉ �ŒʉƁǞǩȣǊ
+Œȣ ŷƟ Ǉȴʞȣƌ ǩȣ ɠȴȋˈȣȴȝǩŒȋ ʉǩȝƟ ŷˈ Dƌȝȴȣƌɻࢪ
ŒȋǊȴɫǩʉǞȝ

I
yay
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ĨƟɫʉƟˇ +ȴʻƟɫ



Ĩ̺Ϙϫ̺Р +ΧЖ̺Ϙϡ

ࡦ � ĨƟɫʉƟˇ +ȴʻƟɫ ȴǇ Œ ǊɫŒɠǞ a ǩɻ Œ ɻƟʉ ȴǇ
ʻƟɫʉǩƁƟɻ * ɻʞƁǞ ʉǞŒʉ ƟʻƟɫˈ ƟƌǊƟ ȴǇ a ǩɻ
ƁȴȣȣƟƁʉƟƌ ʉȴ ɻȴȝƟ ʻƟɫʉƟˇ ǩȣ ࡱ*

ࡦ � �ǩȣǩȝŒȋ ĨƟɫʉƟˇ +ȴʻƟɫ ǩɻ Œ ʻƟɫʉƟˇ ƁȴʻƟɫ ʿǞǩƁǞ
ƌȴƟɻ ȣȴʉ ƁȴȣʉŒǩȣ ȴʉǞƟɫ ʻƟɫʉƟˇ ƁȴʻƟɫɻࡱ

ࡦ � �ǩȣǩȝʞȝ ĨƟɫʉƟˇ +ȴʻƟɫ ǩɻ Œ ʻƟɫʉƟˇ ƁȴʻƟɫ ȴǇ
ʉǞƟ ɻȝŒȋȋƟɻʉ ɻǩ˔Ɵࡱ

LUC



Ĩ̺Ϙϫ̺Р +ΧЖ̺Ϙϡ

ࡦ � ĨƟɫʉƟˇ +ȴʻƟɫ ȴǇ Œ ǊɫŒɠǞ a ǩɻ Œ ɻƟʉ ȴǇ
ʻƟɫʉǩƁƟɻ * ɻʞƁǞ ʉǞŒʉ ƟʻƟɫˈ ƟƌǊƟ ȴǇ a ǩɻ
ƁȴȣȣƟƁʉƟƌ ʉȴ ɻȴȝƟ ʻƟɫʉƟˇ ǩȣ ࡱ*

ࡦ � �ǩȣǩȝŒȋ ĨƟɫʉƟˇ +ȴʻƟɫ ǩɻ Œ ʻƟɫʉƟˇ ƁȴʻƟɫ ʿǞǩƁǞ
ƌȴƟɻ ȣȴʉ ƁȴȣʉŒǩȣ ȴʉǞƟɫ ʻƟɫʉƟˇ ƁȴʻƟɫɻࡱ

ࡦ � �ǩȣǩȝʞȝ ĨƟɫʉƟˇ +ȴʻƟɫ ǩɻ Œ ʻƟɫʉƟˇ ƁȴʻƟɫ ȴǇ
ʉǞƟ ɻȝŒȋȋƟɻʉ ɻǩ˔Ɵࡱ



Ĩ̺Ϙϫ̺Р +ΧЖ̺Ϙϡ

ࡦ � ĨƟɫʉƟˇ +ȴʻƟɫ ȴǇ Œ ǊɫŒɠǞ a ǩɻ Œ ɻƟʉ ȴǇ
ʻƟɫʉǩƁƟɻ * ɻʞƁǞ ʉǞŒʉ ƟʻƟɫˈ ƟƌǊƟ ȴǇ a ǩɻ
ƁȴȣȣƟƁʉƟƌ ʉȴ ɻȴȝƟ ʻƟɫʉƟˇ ǩȣ ࡱ*

ࡦ � �ǩȣǩȝŒȋ ĨƟɫʉƟˇ +ȴʻƟɫ ǩɻ Œ ʻƟɫʉƟˇ ƁȴʻƟɫ ʿǞǩƁǞ
ƌȴƟɻ ȣȴʉ ƁȴȣʉŒǩȣ ȴʉǞƟɫ ʻƟɫʉƟˇ ƁȴʻƟɫɻࡱ

ࡦ � �ǩȣǩȝʞȝ ĨƟɫʉƟˇ +ȴʻƟɫ ǩɻ Œ ʻƟɫʉƟˇ ƁȴʻƟɫ ȴǇ
ʉǞƟ ɻȝŒȋȋƟɻʉ ɻǩ˔Ɵࡱ



Ĩ̺Ϙϫ̺Р +ΧЖ̺Ϙϡࡩ DР˺ΓϑΉ̺ϡ



Ĩ̺Ϙϫ̺Р +ΧЖ̺Ϙϡࡩ DР˺ΓϑΉ̺ϡ

ve
not minimal VC

x

x



Ĩ̺Ϙϫ̺Р +ΧЖ̺Ϙϡࡩ DР˺ΓϑΉ̺ϡ

x



Ĩ̺Ϙϫ̺Р +ΧЖ̺Ϙϡࡩ DР˺ΓϑΉ̺ϡ
minimal VC
net minimum VC



Ĩ̺Ϙϫ̺Р +ΧЖ̺Ϙϡࡩ DР˺ΓϑΉ̺ϡ
minimum UC



�ΗϫͮЖͮϘϺϡ ðСϡϫ̺Γ

O
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�ΗϫͮЖͮϘϺϡ ðСϡϫ̺Γ
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�ΗϫͮЖͮϘϺϡ ðСϡϫ̺Γ



�Ή͞ΧϘͮϫͩΓϡ

�ǩȣǩȝŒȋ ĨƟɫʉƟˇ +ȴʻƟɫ
+Œȣ ŷƟ Ǉȴʞȣƌ ǩȣ ɠȴȋˈȣȴȝǩŒȋ ʉǩȝƟ ŷˈ Œ ǊɫƟƟƌˈ
ŒȋǊȴɫǩʉǞȝ

�ǩȣǩȝʞȝ ĨƟɫʉƟˇ +ȴʻƟɫ
xɻ £ß࢙ǞŒɫƌࡱ īƟ ȴȣȋˈ ȅȣȴʿ ƟˇɠȴȣƟȣʉǩŒȋ࢙ʉǩȝƟ
ŒȋǊȴɫǩʉǞȝɻ

EASY



�Ή͞ΧϘͮϫͩΓϡ

�ǩȣǩȝŒȋ ĨƟɫʉƟˇ +ȴʻƟɫ
+Œȣ ŷƟ Ǉȴʞȣƌ ǩȣ ɠȴȋˈȣȴȝǩŒȋ ʉǩȝƟ ŷˈ Œ ǊɫƟƟƌˈ
ŒȋǊȴɫǩʉǞȝ

�ǩȣǩȝʞȝ ĨƟɫʉƟˇ +ȴʻƟɫ
xɻ £ß࢙ǞŒɫƌࡱ īƟ ȴȣȋˈ ȅȣȴʿ ƟˇɠȴȣƟȣʉǩŒȋ࢙ʉǩȝƟ
ŒȋǊȴɫǩʉǞȝɻ



�ϑϑϘΧРͮΓ˺ϫͮΧΗ �Ή͞ΧϘͮϫͩΓ

ࡦ �← ȝŒˇǩȝŒȋ ȝŒʉƁǞǩȣǊ ǩȣ a

ࡦ ɫƟʉʞɫȣ Œȋȋ ʻƟɫʉǩƁƟɻ ǩȣ �



�ϑϑϘΧРͮΓ˺ϫͮΧΗ �Ή͞ΧϘͮϫͩΓ

ࡦ �← ȝŒˇǩȝŒȋ ȝŒʉƁǞǩȣǊ ǩȣ a

ࡦ ɫƟʉʞɫȣ Œȋȋ ʻƟɫʉǩƁƟɻ ǩȣ �

I It means in poly time

2 It's 2 approximate



DϖϺͮЖ˺Ή̺Ηϫ �Ή͞ΧϘͮϫͩΓ

ࡦ *← ∅

ࡦ ʿǞǩȋƟ B ̸= ∅
ࡦ {ʗ, ʴ}← Œȣˈ ƟƌǊƟ Ǉɫȴȝ B
ࡦ Œƌƌ ʗ, ʴ ʉȴ *
ࡦ ƌƟȋƟʉƟ Ǉɫȴȝ B Œȋȋ ƟƌǊƟɻ ǩȣƁǩƌƟȣʉ ʉȴ ʗ ȴɫ ʴ

ࡦ ɫƟʉʞɫȣ *



DϖϺͮЖ˺Ή̺Ηϫ �Ή͞ΧϘͮϫͩΓ

ࡦ *← ∅

ࡦ ʿǞǩȋƟ B ̸= ∅

ࡦ {ʗ, ʴ}← Œȣˈ ƟƌǊƟ Ǉɫȴȝ B
ࡦ Œƌƌ ʗ, ʴ ʉȴ *
ࡦ ƌƟȋƟʉƟ Ǉɫȴȝ B Œȋȋ ƟƌǊƟɻ ǩȣƁǩƌƟȣʉ ʉȴ ʗ ȴɫ ʴ

ࡦ ɫƟʉʞɫȣ *

Maximal G V E
matching



DϖϺͮЖ˺Ή̺Ηϫ �Ή͞ΧϘͮϫͩΓ

ࡦ *← ∅

ࡦ ʿǞǩȋƟ B ̸= ∅
ࡦ {ʗ, ʴ}← Œȣˈ ƟƌǊƟ Ǉɫȴȝ B

ࡦ Œƌƌ ʗ, ʴ ʉȴ *
ࡦ ƌƟȋƟʉƟ Ǉɫȴȝ B Œȋȋ ƟƌǊƟɻ ǩȣƁǩƌƟȣʉ ʉȴ ʗ ȴɫ ʴ

ࡦ ɫƟʉʞɫȣ *



DϖϺͮЖ˺Ή̺Ηϫ �Ή͞ΧϘͮϫͩΓ

ࡦ *← ∅

ࡦ ʿǞǩȋƟ B ̸= ∅
ࡦ {ʗ, ʴ}← Œȣˈ ƟƌǊƟ Ǉɫȴȝ B
ࡦ Œƌƌ ʗ, ʴ ʉȴ *

ࡦ ƌƟȋƟʉƟ Ǉɫȴȝ B Œȋȋ ƟƌǊƟɻ ǩȣƁǩƌƟȣʉ ʉȴ ʗ ȴɫ ʴ
ࡦ ɫƟʉʞɫȣ *

D



DϖϺͮЖ˺Ή̺Ηϫ �Ή͞ΧϘͮϫͩΓ

ࡦ *← ∅

ࡦ ʿǞǩȋƟ B ̸= ∅
ࡦ {ʗ, ʴ}← Œȣˈ ƟƌǊƟ Ǉɫȴȝ B
ࡦ Œƌƌ ʗ, ʴ ʉȴ *
ࡦ ƌƟȋƟʉƟ Ǉɫȴȝ B Œȋȋ ƟƌǊƟɻ ǩȣƁǩƌƟȣʉ ʉȴ ʗ ȴɫ ʴ

ࡦ ɫƟʉʞɫȣ *

I

ETE

e
0

Teams in poly time



ßϘΧΧ͘

�ƟȝȝŒ
óǛǦɵ ŒȈǈȰɥǦʂǛȚ ɥʗȠɵ ǦȠ ɛȰȈˁȠȰȚǦŒȈ ʂǦȚƝ ŒȠƊ Ǧɵ
ࡩŒɛɛɥȰˀǦȚŒʂƝࢗ߿ Ǧʂ ɥƝʂʗɥȠɵ Œ ʴƝɥʂƝˀ ƀȰʴƝɥ ʂǛŒʂ Ǧɵ
Œʂ ȚȰɵʂ ʂʸǦƀƝ ȈŒɥǈƝɥ ʂǛƝȠ Œ ȚǦȠǦȚʗȚ ʴƝɥʂƝˀ
ƀȰʴƝɥࡰ

OPT is the size of minimum venter

We select EMPT vertices



Matching C if Minimum
ve

has size OPT

Me

PT7I
8 toes in

matching

vent
in matching

our output vertices matching E

a 2 OPT



Runs in poly time

Outputs some venter coven

Its VC E Z Minimum
vc

O
1

too f

e
e r II This

d edge
could he

0 00 added
A to

matching
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ࡦ üǞƟ ŒȣŒȋˈɻǩɻ ǩɻ ʉǩǊǞʉࡩ ʉǞƟɫƟ ŒɫƟ ǊɫŒɠǞɻ ʿǩʉǞ
ȝŒʉƁǞǩȣǊɻ ʉʿǩƁƟ ȋŒɫǊƟɫ ʉǞŒȣ ʻƟɫʉƟˇ ƁȴʻƟɫɻ

ࡦ £ȴ ŒɠɠɫȴˇǩȝŒʉǩȴȣ࢙ࠆࠆ.߾ ŒȋǊȴɫǩʉǞȝ ǩɻ ȅȣȴʿȣ



`ͮΗ˺Ή æ̺Γ˺Ϙ΄ϡ

ࡦ üǞƟ ŒȣŒȋˈɻǩɻ ǩɻ ʉǩǊǞʉࡩ ʉǞƟɫƟ ŒɫƟ ǊɫŒɠǞɻ ʿǩʉǞ
ȝŒʉƁǞǩȣǊɻ ʉʿǩƁƟ ȋŒɫǊƟɫ ʉǞŒȣ ʻƟɫʉƟˇ ƁȴʻƟɫɻ

ࡦ £ȴ ŒɠɠɫȴˇǩȝŒʉǩȴȣ࢙ࠆࠆ.߾ ŒȋǊȴɫǩʉǞȝ ǩɻ ȅȣȴʿȣ
Under reasonable conj there is no

better ape alg in holy time



#ɫƟŒȅ
�ŒʉƁǞǩȣǊɻࡩ

ǞʉʉɠࡷࡷࡩŷǩʉࡱȋˈࡷǽȴŷࡻŒɻɻǩǊȣȝƟȣʉ
ĨƟɫʉƟˇ ƁȴʻƟɫɻࡩ

ǞʉʉɠࡷࡷࡩŷǩʉࡱȋˈࡷŒȣʉǩʻǩɫʞɻࡻɻˈɻʉƟȝ



üɫŒʻƟȋǩȣǊ ðŒȋƟɻȝŒȣ



�ϑϑϘΧРͮΓ˺ϫͮΧΗ

ࡦ xǇ ß ̸= £ßࡪ ʉǞƟȣ ʉǞƟɫƟ ǩɻ ȣȴ Ȃ࢙ŒɠɠɫȴˇǩȝŒʉǩȴȣ
ŒȋǊȴɫǩʉǞȝ Ǉȴɫ ʉǞƟ ǊƟȣƟɫŒȋ ʻƟɫɻǩȴȣ ȴǇ üðß Ǉȴɫ
Œȣˈ ƁȴȣɻʉŒȣʉ Ȃ

ࡦ DʞƁȋǩƌƟŒȣ üðßࡩ ʸ(ʗ, ʴ) = ʸ(ʴ,ʗ) Œȣƌ
ʸ(ʗ, ʴ) ≤ ʸ(ʗ, ˍ) + ʸ(ˍ, ʴ)

ࡦ īƟ ʿǩȋȋ ƌƟɻǩǊȣ Œ ŒɠɠɫȴˇǩȝŒʉǩȴȣ࢙߿ ŒȋǊȴɫǩʉǞȝࡩ ǩʉ
ɧʞǩƁȅȋˈ ˨ȣƌɻ Œ ƁˈƁȋƟ ʉǞŒʉ ǩɻ Œʉ ȝȴɻʉ ʉʿǩƁƟ
ȋȴȣǊƟɫ ʉǞŒȣ Œȣ ȴɠʉǩȝŒȋ ȴȣƟ



�ϑϑϘΧРͮΓ˺ϫͮΧΗ

ࡦ xǇ ß ̸= £ßࡪ ʉǞƟȣ ʉǞƟɫƟ ǩɻ ȣȴ Ȃ࢙ŒɠɠɫȴˇǩȝŒʉǩȴȣ
ŒȋǊȴɫǩʉǞȝ Ǉȴɫ ʉǞƟ ǊƟȣƟɫŒȋ ʻƟɫɻǩȴȣ ȴǇ üðß Ǉȴɫ
Œȣˈ ƁȴȣɻʉŒȣʉ Ȃ

ࡦ DʞƁȋǩƌƟŒȣ üðßࡩ ʸ(ʗ, ʴ) = ʸ(ʴ,ʗ) Œȣƌ
ʸ(ʗ, ʴ) ≤ ʸ(ʗ, ˍ) + ʸ(ˍ, ʴ)

ࡦ īƟ ʿǩȋȋ ƌƟɻǩǊȣ Œ ŒɠɠɫȴˇǩȝŒʉǩȴȣ࢙߿ ŒȋǊȴɫǩʉǞȝࡩ ǩʉ
ɧʞǩƁȅȋˈ ˨ȣƌɻ Œ ƁˈƁȋƟ ʉǞŒʉ ǩɻ Œʉ ȝȴɻʉ ʉʿǩƁƟ
ȋȴȣǊƟɫ ʉǞŒȣ Œȣ ȴɠʉǩȝŒȋ ȴȣƟ

o

o o
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ࡦ xǇ ß ̸= £ßࡪ ʉǞƟȣ ʉǞƟɫƟ ǩɻ ȣȴ Ȃ࢙ŒɠɠɫȴˇǩȝŒʉǩȴȣ
ŒȋǊȴɫǩʉǞȝ Ǉȴɫ ʉǞƟ ǊƟȣƟɫŒȋ ʻƟɫɻǩȴȣ ȴǇ üðß Ǉȴɫ
Œȣˈ ƁȴȣɻʉŒȣʉ Ȃ

ࡦ DʞƁȋǩƌƟŒȣ üðßࡩ ʸ(ʗ, ʴ) = ʸ(ʴ,ʗ) Œȣƌ
ʸ(ʗ, ʴ) ≤ ʸ(ʗ, ˍ) + ʸ(ˍ, ʴ)

ࡦ īƟ ʿǩȋȋ ƌƟɻǩǊȣ Œ ŒɠɠɫȴˇǩȝŒʉǩȴȣ࢙߿ ŒȋǊȴɫǩʉǞȝࡩ ǩʉ
ɧʞǩƁȅȋˈ ˨ȣƌɻ Œ ƁˈƁȋƟ ʉǞŒʉ ǩɻ Œʉ ȝȴɻʉ ʉʿǩƁƟ
ȋȴȣǊƟɫ ʉǞŒȣ Œȣ ȴɠʉǩȝŒȋ ȴȣƟ



5̺ͮ͘ΗͮϫͮΧΗ

ࡦ � ʉɫƟƟ ǩɻ Œ ƁȴȣȣƟƁʉƟƌ ǊɫŒɠǞ ʿǩʉǞȴʞʉ ƁˈƁȋƟɻ

ࡦ � ʉɫƟƟ ǩɻ Œ ƁȴȣȣƟƁʉƟƌ ǊɫŒɠǞ ȴȣ Ƞ ʻƟɫʉǩƁƟɻ ʿǩʉǞ
Ƞ− ߾ ƟƌǊƟɻ

ࡦ � ðɠŒȣȣǩȣǊ üɫƟƟ ȴǇ Œ ǊɫŒɠǞ a ǩɻ Œ ɻʞŷǊɫŒɠǞ ȴǇ
a ʉǞŒʉ ࢎǩࢍ ǩɻ Œ ʉɫƟƟ Œȣƌ ࢎǩǩࢍ ƁȴȣʉŒǩȣɻ Œȋȋ ʻƟɫʉǩƁƟɻ
ȴǇ a

ࡦ � �ǩȣǩȝʞȝ ðɠŒȣȣǩȣǊ üɫƟƟ ȴǇ Œ ʿƟǩǊǞʉƟƌ ǊɫŒɠǞ
a ǩɻ Œ ɻɠŒȣȣǩȣǊ ʉɫƟƟ ȴǇ ʉǞƟ ɻȝŒȋȋƟɻʉ ʿƟǩǊǞʉ

An



5̺ͮ͘ΗͮϫͮΧΗ

ࡦ � ʉɫƟƟ ǩɻ Œ ƁȴȣȣƟƁʉƟƌ ǊɫŒɠǞ ʿǩʉǞȴʞʉ ƁˈƁȋƟɻ

ࡦ � ʉɫƟƟ ǩɻ Œ ƁȴȣȣƟƁʉƟƌ ǊɫŒɠǞ ȴȣ Ƞ ʻƟɫʉǩƁƟɻ ʿǩʉǞ
Ƞ− ߾ ƟƌǊƟɻ

ࡦ � ðɠŒȣȣǩȣǊ üɫƟƟ ȴǇ Œ ǊɫŒɠǞ a ǩɻ Œ ɻʞŷǊɫŒɠǞ ȴǇ
a ʉǞŒʉ ࢎǩࢍ ǩɻ Œ ʉɫƟƟ Œȣƌ ࢎǩǩࢍ ƁȴȣʉŒǩȣɻ Œȋȋ ʻƟɫʉǩƁƟɻ
ȴǇ a

ࡦ � �ǩȣǩȝʞȝ ðɠŒȣȣǩȣǊ üɫƟƟ ȴǇ Œ ʿƟǩǊǞʉƟƌ ǊɫŒɠǞ
a ǩɻ Œ ɻɠŒȣȣǩȣǊ ʉɫƟƟ ȴǇ ʉǞƟ ɻȝŒȋȋƟɻʉ ʿƟǩǊǞʉ

I

f I
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ࡦ � ʉɫƟƟ ǩɻ Œ ƁȴȣȣƟƁʉƟƌ ǊɫŒɠǞ ʿǩʉǞȴʞʉ ƁˈƁȋƟɻ

ࡦ � ʉɫƟƟ ǩɻ Œ ƁȴȣȣƟƁʉƟƌ ǊɫŒɠǞ ȴȣ Ƞ ʻƟɫʉǩƁƟɻ ʿǩʉǞ
Ƞ− ߾ ƟƌǊƟɻ

ࡦ � ðɠŒȣȣǩȣǊ üɫƟƟ ȴǇ Œ ǊɫŒɠǞ a ǩɻ Œ ɻʞŷǊɫŒɠǞ ȴǇ
a ʉǞŒʉ ࢎǩࢍ ǩɻ Œ ʉɫƟƟ Œȣƌ ࢎǩǩࢍ ƁȴȣʉŒǩȣɻ Œȋȋ ʻƟɫʉǩƁƟɻ
ȴǇ a

ࡦ � �ǩȣǩȝʞȝ ðɠŒȣȣǩȣǊ üɫƟƟ ȴǇ Œ ʿƟǩǊǞʉƟƌ ǊɫŒɠǞ
a ǩɻ Œ ɻɠŒȣȣǩȣǊ ʉɫƟƟ ȴǇ ʉǞƟ ɻȝŒȋȋƟɻʉ ʿƟǩǊǞʉ

EH
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ࡦ � ʉɫƟƟ ǩɻ Œ ƁȴȣȣƟƁʉƟƌ ǊɫŒɠǞ ʿǩʉǞȴʞʉ ƁˈƁȋƟɻ

ࡦ � ʉɫƟƟ ǩɻ Œ ƁȴȣȣƟƁʉƟƌ ǊɫŒɠǞ ȴȣ Ƞ ʻƟɫʉǩƁƟɻ ʿǩʉǞ
Ƞ− ߾ ƟƌǊƟɻ

ࡦ � ðɠŒȣȣǩȣǊ üɫƟƟ ȴǇ Œ ǊɫŒɠǞ a ǩɻ Œ ɻʞŷǊɫŒɠǞ ȴǇ
a ʉǞŒʉ ࢎǩࢍ ǩɻ Œ ʉɫƟƟ Œȣƌ ࢎǩǩࢍ ƁȴȣʉŒǩȣɻ Œȋȋ ʻƟɫʉǩƁƟɻ
ȴǇ a

ࡦ � �ǩȣǩȝʞȝ ðɠŒȣȣǩȣǊ üɫƟƟ ȴǇ Œ ʿƟǩǊǞʉƟƌ ǊɫŒɠǞ
a ǩɻ Œ ɻɠŒȣȣǩȣǊ ʉɫƟƟ ȴǇ ʉǞƟ ɻȝŒȋȋƟɻʉ ʿƟǩǊǞʉ

MST

Kruskal's Prim's
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�

# +

5

D`

c

ࠀ

ࠁ

ࠀ
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߿

ࠁ

ࠁ

ࠀࠄ
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ࠁ

MST
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�ƟȝȝŒ
�Ɵʉ a ŷƟ Œȣ ʞȣƌǩɫƟƁʉƟƌ ǊɫŒɠǞ ʿǩʉǞ
ȣȴȣ࢙ȣƟǊŒʉǩʻƟ ƟƌǊƟ ʿƟǩǊǞʉɻࡱ üǞƟȣ
MST(a) ≤ TSP(a)ࡱ

ßɫȴȴǇ
#ˈ ɫƟȝȴʻǩȣǊ Œȣˈ ƟƌǊƟ Ǉɫȴȝ Œȣ ȴɠʉǩȝʞȝ üðß
ƁˈƁȋƟ ȴȣƟ ǊƟʉɻ Œ ɻɠŒȣȣǩȣǊ ʉɫƟƟ ȴǇ aࡱ

I

If I can

find some

00 441
TSP Ez MST

E ZTSPTSP
3 weight of this path a

3 min weight of a path path is a tree
7 m in weight of a tree f

M STC 6
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�ƟȝȝŒ
�Ɵʉ a ŷƟ Œȣ ʞȣƌǩɫƟƁʉƟƌ ǊɫŒɠǞ ʿǩʉǞ
ȣȴȣ࢙ȣƟǊŒʉǩʻƟ ƟƌǊƟ ʿƟǩǊǞʉɻࡱ üǞƟȣ
MST(a) ≤ TSP(a)ࡱ

ßɫȴȴǇ
#ˈ ɫƟȝȴʻǩȣǊ Œȣˈ ƟƌǊƟ Ǉɫȴȝ Œȣ ȴɠʉǩȝʞȝ üðß
ƁˈƁȋƟ ȴȣƟ ǊƟʉɻ Œ ɻɠŒȣȣǩȣǊ ʉɫƟƟ ȴǇ aࡱ



DϺΉ̺Ϙͮ˺Η +С̤Ή̺

�ȣ DʞȋƟɫǩŒȣ ƁˈƁȋƟ ȴɫࢍ ɠŒʉǞࢎ ʻǩɻǩʉɻ ƟʻƟɫˈ ƟƌǊƟ
ƟˇŒƁʉȋˈ ȴȣƁƟ

+ɫǩʉƟɫǩŒ
� ƁȴȣȣƟƁʉƟƌ ʞȣƌǩɫƟƁʉƟƌ ǊɫŒɠǞ ƁȴȣʉŒǩȣɻ Œȣ
DʞȋƟɫǩŒȣ ƁˈƁȋƟࡪ ǩǇ Œȣƌ ȴȣȋˈ ǩǇ ʉǞƟ ƌƟǊɫƟƟ ȴǇ
ƟʻƟɫˈ ȣȴƌƟ ǩɻ ƟʻƟȣ



DϺΉ̺Ϙͮ˺Η +С̤Ή̺

�ȣ DʞȋƟɫǩŒȣ ƁˈƁȋƟ ȴɫࢍ ɠŒʉǞࢎ ʻǩɻǩʉɻ ƟʻƟɫˈ ƟƌǊƟ
ƟˇŒƁʉȋˈ ȴȣƁƟ

+ɫǩʉƟɫǩŒ
� ƁȴȣȣƟƁʉƟƌ ʞȣƌǩɫƟƁʉƟƌ ǊɫŒɠǞ ƁȴȣʉŒǩȣɻ Œȣ
DʞȋƟɫǩŒȣ ƁˈƁȋƟࡪ ǩǇ Œȣƌ ȴȣȋˈ ǩǇ ʉǞƟ ƌƟǊɫƟƟ ȴǇ
ƟʻƟɫˈ ȣȴƌƟ ǩɻ ƟʻƟȣ
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ࡦ ó← ȝǩȣǩȝʞȝ ɻɠŒȣȣǩȣǊ ʉɫƟƟ ȴǇ a

ࡦ 3← ó ʿǩʉǞ ƟŒƁǞ ƟƌǊƟ ƌȴʞŷȋƟƌ

ࡦ ˨ȣƌ Œȣ DʞȋƟɫǩŒȣ ƁˈƁȋƟ * ǩȣ 3

ࡦ ɫƟʉʞɫȣ Œ ƁˈƁȋƟ ʉǞŒʉ ʻǩɻǩʉɻ ʉǞƟ ȣȴƌƟɻ ǩȣ ʉǞƟ
ȴɫƌƟɫ ȴǇ ʉǞƟǩɫ ˨ɫɻʉ ŒɠɠƟŒɫŒȣƁƟ ǩȣ *
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ࡦ ó← ȝǩȣǩȝʞȝ ɻɠŒȣȣǩȣǊ ʉɫƟƟ ȴǇ a

ࡦ 3← ó ʿǩʉǞ ƟŒƁǞ ƟƌǊƟ ƌȴʞŷȋƟƌ

ࡦ ˨ȣƌ Œȣ DʞȋƟɫǩŒȣ ƁˈƁȋƟ * ǩȣ 3

ࡦ ɫƟʉʞɫȣ Œ ƁˈƁȋƟ ʉǞŒʉ ʻǩɻǩʉɻ ʉǞƟ ȣȴƌƟɻ ǩȣ ʉǞƟ
ȴɫƌƟɫ ȴǇ ʉǞƟǩɫ ˨ɫɻʉ ŒɠɠƟŒɫŒȣƁƟ ǩȣ *
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ࡦ ó← ȝǩȣǩȝʞȝ ɻɠŒȣȣǩȣǊ ʉɫƟƟ ȴǇ a

ࡦ 3← ó ʿǩʉǞ ƟŒƁǞ ƟƌǊƟ ƌȴʞŷȋƟƌ

ࡦ ˨ȣƌ Œȣ DʞȋƟɫǩŒȣ ƁˈƁȋƟ * ǩȣ 3

ࡦ ɫƟʉʞɫȣ Œ ƁˈƁȋƟ ʉǞŒʉ ʻǩɻǩʉɻ ʉǞƟ ȣȴƌƟɻ ǩȣ ʉǞƟ
ȴɫƌƟɫ ȴǇ ʉǞƟǩɫ ˨ɫɻʉ ŒɠɠƟŒɫŒȣƁƟ ǩȣ *
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ࡦ ó← ȝǩȣǩȝʞȝ ɻɠŒȣȣǩȣǊ ʉɫƟƟ ȴǇ a

ࡦ 3← ó ʿǩʉǞ ƟŒƁǞ ƟƌǊƟ ƌȴʞŷȋƟƌ

ࡦ ˨ȣƌ Œȣ DʞȋƟɫǩŒȣ ƁˈƁȋƟ * ǩȣ 3

ࡦ ɫƟʉʞɫȣ Œ ƁˈƁȋƟ ʉǞŒʉ ʻǩɻǩʉɻ ʉǞƟ ȣȴƌƟɻ ǩȣ ʉǞƟ
ȴɫƌƟɫ ȴǇ ʉǞƟǩɫ ˨ɫɻʉ ŒɠɠƟŒɫŒȣƁƟ ǩȣ *
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�ϑϑϘΧРͮΓ˺ϫͮΧΗ cϺ˺Ϙ˺Ηϫ̺̺

�ƟȝȝŒ
üǞƟ ŒȋǊȴɫǩʉǞȝ ǩɻ ࡱŒɠɠɫȴˇǩȝŒʉƟ࢙߿

ßɫȴȴǇ
ࡦ üǞƟ ʉȴʉŒȋ ȋƟȣǊʉǞ ȴǇ ʉǞƟ �ðü ó ≤ OPT

ࡦ īƟ ɻʉŒɫʉ ʿǩʉǞ DʞȋƟɫǩŒȣ ƁˈƁȋƟ ȴǇ ȋƟȣǊʉǞ |ó|߿
ࡦ ðǞȴɫʉƁʞʉɻ ƁŒȣ ȴȣȋˈ ƌƟƁɫƟŒɻƟ ʉǞƟ ʉȴʉŒȋ ȋƟȣǊʉǞ
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�ƟȝȝŒ
üǞƟ ŒȋǊȴɫǩʉǞȝ ǩɻ ࡱŒɠɠɫȴˇǩȝŒʉƟ࢙߿

ßɫȴȴǇ
ࡦ üǞƟ ʉȴʉŒȋ ȋƟȣǊʉǞ ȴǇ ʉǞƟ �ðü ó ≤ OPT

ࡦ īƟ ɻʉŒɫʉ ʿǩʉǞ DʞȋƟɫǩŒȣ ƁˈƁȋƟ ȴǇ ȋƟȣǊʉǞ |ó|߿
ࡦ ðǞȴɫʉƁʞʉɻ ƁŒȣ ȴȣȋˈ ƌƟƁɫƟŒɻƟ ʉǞƟ ʉȴʉŒȋ ȋƟȣǊʉǞ

TSP
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�ƟȝȝŒ
üǞƟ ŒȋǊȴɫǩʉǞȝ ǩɻ ࡱŒɠɠɫȴˇǩȝŒʉƟ࢙߿

ßɫȴȴǇ
ࡦ üǞƟ ʉȴʉŒȋ ȋƟȣǊʉǞ ȴǇ ʉǞƟ �ðü ó ≤ OPT

ࡦ īƟ ɻʉŒɫʉ ʿǩʉǞ DʞȋƟɫǩŒȣ ƁˈƁȋƟ ȴǇ ȋƟȣǊʉǞ |ó|߿

ࡦ ðǞȴɫʉƁʞʉɻ ƁŒȣ ȴȣȋˈ ƌƟƁɫƟŒɻƟ ʉǞƟ ʉȴʉŒȋ ȋƟȣǊʉǞ
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�ƟȝȝŒ
üǞƟ ŒȋǊȴɫǩʉǞȝ ǩɻ ࡱŒɠɠɫȴˇǩȝŒʉƟ࢙߿

ßɫȴȴǇ
ࡦ üǞƟ ʉȴʉŒȋ ȋƟȣǊʉǞ ȴǇ ʉǞƟ �ðü ó ≤ OPT

ࡦ īƟ ɻʉŒɫʉ ʿǩʉǞ DʞȋƟɫǩŒȣ ƁˈƁȋƟ ȴǇ ȋƟȣǊʉǞ |ó|߿
ࡦ ðǞȴɫʉƁʞʉɻ ƁŒȣ ȴȣȋˈ ƌƟƁɫƟŒɻƟ ʉǞƟ ʉȴʉŒȋ ȋƟȣǊʉǞ
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ࡦ ó← ȝǩȣǩȝʞȝ ɻɠŒȣȣǩȣǊ ʉɫƟƟ ȴǇ a

ࡦ �← ȝǩȣǩȝʞȝ ʿƟǩǊǞʉ ɠƟɫǇƟƁʉ ȝŒʉƁǞǩȣǊ
ȴȣ ȴƌƌ࢙ƌƟǊɫƟƟ ʻƟɫʉǩƁƟɻ ȴǇ ó

ࡦ ˨ȣƌ Œȣ DʞȋƟɫǩŒȣ ƁˈƁȋƟ * ǩȣ ó ∪�

ࡦ ɫƟʉʞɫȣ Œ ƁˈƁȋƟ ʉǞŒʉ ʻǩɻǩʉɻ ʉǞƟ ȣȴƌƟɻ ǩȣ ʉǞƟ
ȴɫƌƟɫ ȴǇ ʉǞƟǩɫ ˨ɫɻʉ ŒɠɠƟŒɫŒȣƁƟ ǩȣ *
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ࡦ ó← ȝǩȣǩȝʞȝ ɻɠŒȣȣǩȣǊ ʉɫƟƟ ȴǇ a

ࡦ �← ȝǩȣǩȝʞȝ ʿƟǩǊǞʉ ɠƟɫǇƟƁʉ ȝŒʉƁǞǩȣǊ
ȴȣ ȴƌƌ࢙ƌƟǊɫƟƟ ʻƟɫʉǩƁƟɻ ȴǇ ó

ࡦ ˨ȣƌ Œȣ DʞȋƟɫǩŒȣ ƁˈƁȋƟ * ǩȣ ó ∪�

ࡦ ɫƟʉʞɫȣ Œ ƁˈƁȋƟ ʉǞŒʉ ʻǩɻǩʉɻ ʉǞƟ ȣȴƌƟɻ ǩȣ ʉǞƟ
ȴɫƌƟɫ ȴǇ ʉǞƟǩɫ ˨ɫɻʉ ŒɠɠƟŒɫŒȣƁƟ ǩȣ *
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ࡦ ó← ȝǩȣǩȝʞȝ ɻɠŒȣȣǩȣǊ ʉɫƟƟ ȴǇ a

ࡦ �← ȝǩȣǩȝʞȝ ʿƟǩǊǞʉ ɠƟɫǇƟƁʉ ȝŒʉƁǞǩȣǊ
ȴȣ ȴƌƌ࢙ƌƟǊɫƟƟ ʻƟɫʉǩƁƟɻ ȴǇ ó

ࡦ ˨ȣƌ Œȣ DʞȋƟɫǩŒȣ ƁˈƁȋƟ * ǩȣ ó ∪�

ࡦ ɫƟʉʞɫȣ Œ ƁˈƁȋƟ ʉǞŒʉ ʻǩɻǩʉɻ ʉǞƟ ȣȴƌƟɻ ǩȣ ʉǞƟ
ȴɫƌƟɫ ȴǇ ʉǞƟǩɫ ˨ɫɻʉ ŒɠɠƟŒɫŒȣƁƟ ǩȣ *
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ࡦ ó← ȝǩȣǩȝʞȝ ɻɠŒȣȣǩȣǊ ʉɫƟƟ ȴǇ a

ࡦ �← ȝǩȣǩȝʞȝ ʿƟǩǊǞʉ ɠƟɫǇƟƁʉ ȝŒʉƁǞǩȣǊ
ȴȣ ȴƌƌ࢙ƌƟǊɫƟƟ ʻƟɫʉǩƁƟɻ ȴǇ ó

ࡦ ˨ȣƌ Œȣ DʞȋƟɫǩŒȣ ƁˈƁȋƟ * ǩȣ ó ∪�

ࡦ ɫƟʉʞɫȣ Œ ƁˈƁȋƟ ʉǞŒʉ ʻǩɻǩʉɻ ʉǞƟ ȣȴƌƟɻ ǩȣ ʉǞƟ
ȴɫƌƟɫ ȴǇ ʉǞƟǩɫ ˨ɫɻʉ ŒɠɠƟŒɫŒȣƁƟ ǩȣ *
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�ƟȝȝŒ
üǞƟ ŒȋǊȴɫǩʉǞȝ ǩɻ ࡱŒɠɠɫȴˇǩȝŒʉƟ࢙߿/ࠀ

ßɫȴȴǇ
ࡦ üǞƟ ʉȴʉŒȋ ȋƟȣǊʉǞ ȴǇ ʉǞƟ �ðü ó ≤ OPT

ࡦ üǞƟ ʿƟǩǊǞʉ ȴǇ ʉǞƟ ȝŒʉƁǞǩȣǊ � ≤ OPT ߿/
ࡦ ðǞȴɫʉƁʞʉɻ ƁŒȣ ȴȣȋˈ ƌƟƁɫƟŒɻƟ ʉǞƟ ʉȴʉŒȋ ȋƟȣǊʉǞ
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�ƟȝȝŒ
üǞƟ ŒȋǊȴɫǩʉǞȝ ǩɻ ࡱŒɠɠɫȴˇǩȝŒʉƟ࢙߿/ࠀ

ßɫȴȴǇ
ࡦ üǞƟ ʉȴʉŒȋ ȋƟȣǊʉǞ ȴǇ ʉǞƟ �ðü ó ≤ OPT

ࡦ üǞƟ ʿƟǩǊǞʉ ȴǇ ʉǞƟ ȝŒʉƁǞǩȣǊ � ≤ OPT ߿/
ࡦ ðǞȴɫʉƁʞʉɻ ƁŒȣ ȴȣȋˈ ƌƟƁɫƟŒɻƟ ʉǞƟ ʉȴʉŒȋ ȋƟȣǊʉǞ
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�ƟȝȝŒ
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ßɫȴȴǇ
ࡦ üǞƟ ʉȴʉŒȋ ȋƟȣǊʉǞ ȴǇ ʉǞƟ �ðü ó ≤ OPT

ࡦ üǞƟ ʿƟǩǊǞʉ ȴǇ ʉǞƟ ȝŒʉƁǞǩȣǊ � ≤ OPT ߿/

ࡦ ðǞȴɫʉƁʞʉɻ ƁŒȣ ȴȣȋˈ ƌƟƁɫƟŒɻƟ ʉǞƟ ʉȴʉŒȋ ȋƟȣǊʉǞ
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�ƟȝȝŒ
üǞƟ ŒȋǊȴɫǩʉǞȝ ǩɻ ࡱŒɠɠɫȴˇǩȝŒʉƟ࢙߿/ࠀ

ßɫȴȴǇ
ࡦ üǞƟ ʉȴʉŒȋ ȋƟȣǊʉǞ ȴǇ ʉǞƟ �ðü ó ≤ OPT

ࡦ üǞƟ ʿƟǩǊǞʉ ȴǇ ʉǞƟ ȝŒʉƁǞǩȣǊ � ≤ OPT ߿/
ࡦ ðǞȴɫʉƁʞʉɻ ƁŒȣ ȴȣȋˈ ƌƟƁɫƟŒɻƟ ʉǞƟ ʉȴʉŒȋ ȋƟȣǊʉǞ



`ͮΗ˺Ή æ̺Γ˺Ϙ΄ϡ

ࡦ DʞƁȋǩƌƟŒȣ üðß ƁŒȣ ŷƟ ŒɠɠɫȴˇǩȝŒʉƟƌ ʉȴ ʿǩʉǞǩȣ
Œȣˈ ǇŒƁʉȴɫ +߾) ε)

ࡦ üǞƟ ƁʞɫɫƟȣʉȋˈ ŷƟɻʉ ȅȣȴʿȣ ŒɠɠɫȴˇǩȝŒʉǩȴȣ
ŒȋǊȴɫǩʉǞȝ Ǉȴɫ üðß ʿǩʉǞ ʉɫǩŒȣǊȋƟ ǩȣƟɧʞŒȋǩʉˈ ǩɻ
ǞŒɻ ŒɠɠɫȴˇǩȝŒʉǩȴȣ ǇŒƁʉȴɫ ȴǇ −߿/ࠀ ࠃࠀ−߽߾
ˈ�ʞȋࢍ ࢎ߽߿߽߿
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Œȣˈ ǇŒƁʉȴɫ +߾) ε)

ࡦ üǞƟ ƁʞɫɫƟȣʉȋˈ ŷƟɻʉ ȅȣȴʿȣ ŒɠɠɫȴˇǩȝŒʉǩȴȣ
ŒȋǊȴɫǩʉǞȝ Ǉȴɫ üðß ʿǩʉǞ ʉɫǩŒȣǊȋƟ ǩȣƟɧʞŒȋǩʉˈ ǩɻ
ǞŒɻ ŒɠɠɫȴˇǩȝŒʉǩȴȣ ǇŒƁʉȴɫ ȴǇ −߿/ࠀ ࠃࠀ−߽߾
ˈ�ʞȋࢍ ࢎ߽߿߽߿

0


